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PAPER-II
GEOGRAPHY
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[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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GEOGRAPHY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

Delta Kames are the outcome of
(A) Glacial erosion

(B) Wind deposition

(C) River deposition

(D) Glacial deposition

Match List — I with List — II and
select the correct answer using the
codes given below :

List-1 List — 11
(Name of the book) (Author)
(a) Essaysin (i) L.C.King

Geomorphology
(b) Morphology of (i) G.H.
the Earth Dury
(¢) Unstable Earth  (ii1) C.A.M.
King
(d) Techniques in (iv) J.A.
Geomorphology Steers

Codes :

@ ) © @
(A) @G @) (@Gv) (i)
B) @ (i) (@v) (i)
(©) @Gv) i) (i) (1)
D) Gv) (i) @ (@)

A ramp of sand deposited by streams
along foothills in the arid land is
called

(A) Hamada

(B) Bajada

(C) Desert Wash

(D) Pediment

Arrange the following mountain
building theories in order in which
they published :

Use the codes given below :

(i)  Continental Drift Theory.

(i1)) Convection Current Theory.
(iii) Sea Floor Spreading Theory.
(iv) Plate Tectonic Theory.

Codes :

A) @ (> (i) @Qv)
B) ) @ @G (@1v)
€ Gv) Gy @ (i)
D) @) @@ () @)

S.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).

Select your answer from the codes

given below :

Assertion (A) : Flowing as a sheet
across a land surface, running
water picks up particles and
moves them downslope into a
stream channel.

Reason (R) : Stream flow always
transport all kinds of sediment
load downstream.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Flat topped steep sided upland
capped by a resistant rock layer
normally formed in arid lands is
called

(A) Erg
(C) Mesa

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).

Select your answer from the codes

given below :

Assertion (A) : A characteristic
feature of the tropical cyclone is
its central eye.

Reason (R) : Tropical cyclone is
not associated with cloud-free
vortex produced by the intense
spiralling of the storm.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)is false, but (R) is true.

(D) (A)is true, but (R) is false.

(B) Cuesta
(D) Escorponant
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8.  Rating curve is useful for estimation 13. Who was the first person to plot the
of Bay of Bengal ?
(A) River discharge (A) Strabo (B) Ptolemy
(B) Stream velocity (C) Al-Masudi (D) Humboldt
(C) Dissolved load )
(D) Hydraulic radius 14. Who is the author of the book
Modern Geographical Thought ?
9. Given below are two statements, one Eg)) gg}VIJdOEi; (;y
labelled as Assertion (A) and the
(C) Brian J.L. Berry
other labelled as Reason (R). Select (D) Richard Peet
your answer from the codes given
below : , 15. Match the following List — I with
Assertion (A) : Coral reefs grow in List — II and select the correct
shallow and warm water. answer from the codes given below :
Reason (R) : Near vertical and List =1 List — II
direct incidence of solar radiation (a) Humboldt (i) Anthropogeographie
is essentially required for the (b) Oscar (ii) Erdteile
growth of coral reefs. Peschell
Codes : (c) Richtofen (iii) Kosmos
(A) Both (A) and (R) are true. (d) Ratzel (iv) Das Ausland
(B) Both (A) and (R) are false. Codes :
(C) (A)is true, but (R) is false. @ (b) (¢) (d
(D) (A) is false, but (R) is true. A) @ G (i) ([Qv)
B) G (v) (i) @)
10. Sublimation describes the direct (© (111) (,1 1) (I,Y) Q)
transition from (D) (i) @Gv) () @)
(A) Solid to vapour 16. Match the following List — I with
(B) V‘apc‘)ur 0 List — II and select the correct
(C)  Liquid to vapour answer from the codes given below :
(D) Vapour to liquid List — I List — II
(a) Isochrone (i) Equal
11. The savanna biome is usually Map biological
associated with event
(A) Tropical wet-dry climate (b) Isoneph (ii) Equal time
(B) Equatorial wet climate Map
(C) Tropical dry climate (c) Isotim (ii1) Equal_
(D) Monsoon climate Map . cloudiness
(d) Isophene  (iv) Equal
12. Who was the first Geographer to CO(Il\;ISI? transport cost
ascertain the length of the equator ? (a.) ® © (@
(A) Eratosthenes (A) (11) (lll) (lV) (1)
(B) Herodotus B) @i) (v) @) (ii)
(C) Anaximander (C) (iv) (i) @) @)
(D) Thales (D) @iy @Gi) @Gv) (@
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e 3 e T3 T § | Uk Rl AT
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T E | A 58 T Gehdl § 37T SR
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13. STIST ol WIS 1 3MeTE T JTeT Ty

ferd ohI AT ?

(A) (B) et

(C) -Agsl (D) eHiee

14. Hie Safuithehet ofe’ AT T&Ih &

TEH HAE ?

A) <fasem

(B) 3RS, SHeT

(C) = S.uA.

(D) R=EEde

15. et — 151 gt — 11 o 91 e it

T (A) ;v Fof gt 3 A fet T i e e
HIWTSToT H Torehied &Il & | e -

HROT (R) : TaTeA i =t forepiad 8= & T -1 -1
0 ST AT SR T (a) F=ice (i) OumfaimE
T @T [d[eh{U] El% H[ARehdl Ei?ﬁ (b) aﬁw (11) éﬂé(_*l'

R et

e e (c) Faehm  (iii)

(A) (A) T (R) SHI T E | d) &= (iv) T 3itaers

(B) (A)T(R) 3 T & | T :

(C) (A) TEe, W< (R) T & |

@ ® © @
(D) (A) 7o &, W (R) Wl € |

A @O > () @Qv)
(B) @) @v) (i) (1)
(©) () @) @Gv) (1)

10. e forad fead ftad st =t

FATE? D) Gii) Gv) Gi) ()
(A) 39 amsT 16. =t — 1 o1 gt — 11 & 91 et shifse
(B) ™1 H 39 R A 5T T Hehall @ TEl STR o 95
(C) FFFAT I :
(D) T=I5T -1 e - 11
(a) MR (1) THE ATaH
11.  Fa S1EH qE: fead Gefaa € 2 B ICICE) Bri)
(A) STTHICH IS STAATT (b) IM@HE (i) T GHT
(B) fauad o1s Soraryg EICICE]
(C) IO I Torarg (c) amedifen (i) WA Herwa
(D) TR ST flalie
(d) MEH®EA  (iv) THH IREeT
12. 9= @1 S TS Sl FER0T A e AT AT
T STTGTaT Shi ot ? Tohdt
(A) g (@ (b)) (© (@
o f % o
Y 11 1V 1 111
g i © Gv) (i) Gi) ()
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17. ‘Principle of Least Effort’ related to 21. Which one of the following is a
human migration is propounded by renewable resource ?
(A) Stouffer (B) Revenstein (A) Coal
(C) Weber (D) Jiff )
(B) Wind energy
18. Arrange the following countries in (C) Iron ore
accordance with their population size : (D) Mica
(A) Pakistan, Bangladesh, Sri
Lanka, Nepal
(B) Pakistan, Sri Lanka, Nepal, 22. “‘All resources are renewable on
Bangladesh some time scale ..... what matters for
(C) Bangladesh, Pakistan, Nepal, the sustainability of future supplies
Sri Lanka is the relative rates of replenishment
(D) Sri Lanka, Bangladesh, Nepal, and use.....’
Pakistan In view of the above statement
identify the correct order of the
19. Among the following South-Asian resource continuum in descending
countries, which one is the most order of renewability.
urbanized ? A .
(A) Nepal (B) Bangladesh (A) air, tidal power, bauxite, forest
(C) Maldives (D) Sri Lanka (B) air, bauxite, forest, tidal power
(C) tidal power, air, bauxite, forest
20. Given below are two statements, one . )
labelled as Assertion (A) and the (D) forest, air, tidal power, bauxite
other labelled as Reason (R). Select
your answer from the codes given 23. The office of Registrar General and

below :

Assertion (A) : At present urban

Census Commissioner of India is
responsible for

natural increase 1S not an . )

important contributor to high L Conductlr}g ‘decennl‘al census

rates of urban growth as the rural (alnd publication of its related
ata.

urban migration.

Reason (R) : Because of lower
mortality, natural rate of increase
is higher in the modern era than
in the historical past.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

II.  Publication of annual land-use
data.

III. Publication of annual health
and education data.

IV. Publication of annual vital
statistics based on sample
registration system.

(A) Iand II are correct.
(B) Tand]1V are correct.
(C) TIand I are correct.
(D) All are correct.
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20. Eanl | b 3TYYHY .
(A) 3R T F W7 (R) &1 7 fean (D) -, T, R, s
T E | A {53 T Hehdl @ ST 3T A
T I | 23. R % Hel USigeh q1 STUET STgaE
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(A) ! T =T Tl © | (B) ITMIVEEE |

(C) (A) TEe, W< (R) T & |
(D) (A) T e, WA (R) I E |

(C) 1ol wEe |
(D) SuRfctiaa @t @& e |
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24. Given below are two statements, one 27. Match List — I with List — II and
labelled as Assertion (A) and the select the correct answer from the
other labelled as Reason (R) : codes given below :

Assertion (A) Biomass List -1 Ll.St 1T .
(Geographers) (Associated with)
energy sources are renewable (a) C. Sauer (1) Radical
resources lying in the critical ' h
limits geostaphy
: (b) D. Harvey  (2) Cultural
Reason (R) : Biomass can be geography
replenished over a time period. (c) F.Ratzel  (3) Social
geography
In the context of the two statements, (d) H. (4) Political
which one of the following is correct ? Johnston geography
Codes : Codes :
(@ () (© (@
(A) Both (A) and (R) are true and A 1 3@ @ @
(R) is the correct explanation B @ O @ B
of (A). © @ G @ @D
® @ @O G WD
(B) Both (A) and (R) are true, but
(R) is not the complete 28. In India the State is used as a
explanation of (A). national planning unit because
. . (A) itis an administrative unit
(C) (A)istrue, but (R) is false. (B) it is a homogeneous unit
(D) (A)is false, but (R) is true. (C) because ~ of political
considerations
(D) uniform physical features

25. WhiCh() of the steel plants is port 29. One of the important determinants of
based urban land value is
(A) Bhilai (A) Climate

(B) Historical factors
(B) Durgapur (C) Topography
) (D) Accessibility
(C) Vishakhapatnam
(D) Rourkela 30. The control or direction of resource
development is called
(A) Resource utilization
) S (B) Resource allocation

26. Which one of the following is not (C) Resource management
associated with political geography ? (D) Resource availability
(A) F.Ratzel 31. The principle of homogeneity and
(B) I Bowman interrelationship can be wused to

delineate units for
(©) R.J.Johnston (A) development planning
) (B) resources analysis
(D) H.J. Mackinder (C) allocation of resources
(D) location specific facilities

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




24, A9 wya A T E | U AT

25.

26.

(A) T T H FHROT (R) &1 A9 =
TR | A 3 T Gehdl 9 370 ST
T P

AR (A)  : TEEN SN Fid, ST
STk IR 3T &, JA-eehon
T E |

HROT (R) : T FHIHMT & 918 STEHH
T YAYROT fefal ST TR & |

=9 1 AT & fied b, efatea 9 9
I | HT Tl & ?

Tohet
(A) (A) @ (R) 3F W&l € a=r (R),
(A) ! TE AT E |

(B) (A) T (R) 3 Wl €, T (R),
(A) %1 TEl AT FE & |

(C) (A) TEE, W (R) A& |
(D) (A) Tod &, W= (R) WeT § |

FeffEd § 9 9 @ Qi ©e
SEUE- 3R & 2

(A) Twerg
(B) TR
(C) TaemaEmTe™
(D) ISR

Fefafea 9 ¥ frge gdy TeHide
I 9 el & 2

(A) TF. &
(B) 3TE. SMA
(C) RS g
(D) TE.S. Afhe
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32. During which of the following year 36. Match the following List — I with
National ~ Water  Policy  was List — II and select the correct
formulated in India ? answer from the codes given below :
(A) 2002 (B) 1987 List -1 List — 11

(a) Damodar (i) Pong
) o (b) Mahanadhi (ii) Konar
33. \AVhIChl'Of :he fo.110w11fn1g dlS (r71ot an (¢) Chambal (iii) Naraj
gro-chimatic region ot Incia - (d) Satlyj (iv) Gandhi Sagar
(A) East Coast Plains and Hills Codes :
(B) The Eastern Plateau and Hills (@ b)) () @
(C) The Western Ghats (A) (ﬁ) (l) (i‘ii) (i}’)
(D) The Trans Ganga Plains (B) ('11) (111) (l_‘_/) (%)
© (v (i) (i) @)
_ o D) @ @) @) @GQv)
34. Which one of the following is
wrongly matched ? 37. Which of the following statement is
Peaks Height correct on the share of India’s
(A) Anaimudi — 2965 m. population to world population as
(7
B) N Parbat  — 7756 m. per 2001 census
(B) Nanga Parba m (A) 147%  (B) 157%
(C) MLt Everest — 8848 m. ©) 16.7% (D) 17.7%
(D) K2 — 8611 m.
38. In remote sensing systems which

35. Given below are two statements, one Sensors,  measures naturally
labelled as Assertion (A) and the available energy ?
other labelled as Reason (R). Select (A) ACtl‘_’e Sensors
your answer from the codes given (B) Passive Sensors
below : (C) Synthetic Aperture Radar
Assertion (A) : The Northern plains (D) Microwave Remote Sensing

and Eastern coastal areas possess ] ] )
a dense network of railways in 39. In which of the following diagrams
India the relationship of relative humidity
' dt ture is depicted ?
Reason (R) : These regions have anc temperaite 15 Cepiete
. - (A) Hythergraph
well developed industries. .
(B) Climograph
Codes : (C) Ergograph
(A) Both (A) and (R) are true and (D) Band graph
(R) is the correct explanation
of (A). 40. Variable class interval for mapping
(B) Both (A) and (R) are true, but will prove more meaningful when
(R) is not the correct the variable is
explanation of (A). (A) normally distributed
(C) (A)is true, but (R) is false. % E%gﬁiy skewed
. . ighly consistent
(D) (A)is false, but (R) is true. (D) measured on ordinal scale
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32,

33.

34.

35.

fr=fetad 9 59 a9 7 9Rd J T2

STet it ht goraeg feram 7 2
(A) 2002 (B) 1987
(©) 2007 (D) 1985

freffed § @ ®F 9Ra w1 FEF
STeTdTg IS 9T e & ?

(A) Yo THRAR BET T YeTet |
(B) el USR e TerE! &

(C) ufvedt =
(D) TR % WS &
fr=feiad & & i a1 yeid R gaferd
TRIE?

RERANICH E2 I
(A) 3FTE — 2965 T
(B) = muea — 7756 T
(C) R TaE - 8848 HieX
(D) *2 — 8611 T

T <7 e 58 T € | Uk ol AR
(A) T T H HROT (R) 1 A9 =
TR | A 3 T Gehdl 9 370 ST
TIT IS
AMHPAT (A)  : WRA & IR AT &
qT gl GRAS &3 H {7 i Teiar
T e ST (ST g & |
HROT (R) : T &350 H Froehiad Se-4
g
el :
(A) (A) @I (R) IF1 T & 3R (R),
(A) Tl TEl AT |
(B) (A) T (R) 1 &l € W/ (R),
(A) o T& AT TRl & |
(C) (A) TEe, R (R) TqE |
(D) (A) 7o & W= (R) el T |

36.

37.

38.

39.

40.

et — 1 1 Toer gt — 11 % 91 hifste

e = fod T Gehdl | el ST’ W TaT
e ;
T -1 T - 11
il (9
(a) TERY G) G
(b) HeTR! (i) FAR
(c) == (iii) =T
(d) Terst (iv) T @R
xiém-

@ b (© (@
(A) @) (@) @) Gv)
B) (@) Gi) Gv) @)
©) @v) Gi) Gi) @
D) @) G () (v)
forver Bt ST Sl 2001 Y STITOMT &
IR SO & Gad |
Trferfiad & @ = 91 wuT Wa e 2
(A) 14.7% B) 15.7%
©) 16.7% D) 17.7%

A AT oot | fefatad 5 3
HIF AT GG UTHAh € F T FHoll
1 AT AT S ?

(A) Ufeed T

(B) ufga ¥

(C) Tqdfceh 3TUTeR WAER

(D) dHrEshia RHTE A

frafafea 4 9 fog g 9 ofrear qon
A % GrfeTs e w1 famer R
ST 2

(A) ERWE

(B) SISHIUTE

(C) T

(D) dEUH

TEfEoT &% U aRedE o9 3R
31Tk TTefeh o fog g, S e’
B |

(A) gHa: foaia ® |

(B) rcataes faom e |

(C) TAH AT |

(D) FHGES T R AT E |
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41.

42.

43.

Harmonic mean as a method of
central tendency is suitable for data
pertaining to

(A) Index numbers

(B) Growth rates

(C) Wind speed

(D) Population density

Match List — I with List — II and
select the correct answer from the
codes given below :
List -1
(Mapping
technique)
(a) Chorochromatic (i) density

List — II

(b) Choroschematic (ii) sign and

symbol

(c) Isoplething (iii) tint layering
(d) Choroplething (iv) interpolation
Codes :

(@ () () (@
(A (1) @) @) (1v)
B) @) @Gv) @) (@)
© @) @) av) @
D) @ @) (i) (v)

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : Great Lakes region
of U.S.A. is well developed with
industries.

Reason (R) : This region was the
region of earlier settlement in
U.S.A. by migrants from Britain.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

(Characteristics)

44.

45.

46.

“A Handbook of Commercial
Geography” is a translated work
published in 1889. Who of the
following is the translator ?

(A) Dudley Stamp

(B) George Chisholm

(C) Von Thunen

(D) Karl Marx

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Select
your answer from the codes given
below :

Assertion (A) : In  modern time
artifacts are changing faster than
the mentifacts of culture.

Reason (R) : Economic
liberalization and modernization
forces tend to bring critical
economy and cultural change.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(C©) (A)is correct, but (R) is false.

(D) (A)is false, but (R) is true.

Match the following List — I with

List — II and select the correct

answer from the codes given below :
List -1 List - II

(Geographer) (Theory)

(a) Losch (i) Agglomeration
Theory

(i1)) Market Area
Location Theory

(ii1) Least Cost

(b) Weber

(c) Thombson

Theory
(d) Reily (iv) Gravitation
Theory
Codes :

@@ () () (d
A) @ > (i) @)
B) @) (i) @) ()
©) Gy @Gv) @ (i)
D) @) (@) Gv) (i)
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41.

42.

43.

HRT TG T {9 F T H EAD
et fehy W o 3ATehe o Tt Suger € 2
(A) gI=HIH

(B) TS

(C) g

(D) SEEEAT g

T — 1 1 et =t — 11 3 |1 it
qer 9 K7 T Gohdl T U ST H
T THITTT

T -1 T -11
(=TT deheiten) (SAT¥reTETon)
(a) PRIHATEH () T
(b) PRIGPECE (i) Tae a1 Ui
(c) STEHTGATHT (i) I Terepor
(d) SRR (iv) A
ﬁﬁv_r[ .

(@ () () (@
A) @O G G @)
B) G) @Gv) @O (i)
(©) () @) Gv) (@)
D) ® @) (i) @Qv)

T <1 U §3 T € | Uk T ST
(A) T T A HRT (R) 1 A1
T e | A 53 T Gehdl 9 S0 ST
T P
R (A)  : J TH T H U b
& SEMT-48 T Tef-Hifd foepfad € |
FHROT(R) : T8 &7 oA A JUA U H =
TG ST SRR QT &3 T |
THehe
(A) (A) T (R) I Wl € @ (R),
(A) T T FRATE |
(B) (A) @ (R) 3HI Wl €, W] (R),
(A) ! e AT TET & |
(C) (A) W& &, W< (R) T T |
(D) (A) 7o &, W (R) Wl € |
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44.

45.

46.

“T ¥UeSh O HATGAA ST
1889 © YeHIRTA U SFIASA FH T |
= 5 9 P SRR T ?

(A) T LW

(B) it Tt

(C) g

(D) HTet AR

e 1 e 53 T § | U i AT
(A) T 3E H HROT (R) 1 19 =
TR | A 58 T Gehdl § 30 ST
T B
MIHIT (A)  : YT THT H T

% HIhH H U SMChIH

3R el ¥ IRAaa Sl @ & |

(A) (A) @ (R) 3FT W&l € a4 (R),
(A) o T& AT TRl & |

(B) (A) @1 (R) SHI Wl €, W] (R),
(A) T T FRATE |

(C) (A) W& &, W< (R) T |

(D) (A) T &, W= (R) W& & |

et — 1 1 Toer gt — 11 % 91 hifste
qor 9 7 T Gohdl W 9 ST H
T HITTT

L | T -11

(Terera) (i)
(a) AT () 9 Tasia
(b) I (i) SR & SYarefe

fagia

(c) gf=@a (i) =37 oTa fagia
(d) & (iv) TR fagid
Tohd

(@ () () (@
@A) @ (@) (i) @)
B) @) (i) @ 3>v)
€ Gy @Gv) @ (i)
(D) @) (@) (Gv) (i)



Read the following paragraph and asnswer
the question numbers 47 to 50 :

Yeung and Lo (1996) and Tasaka (1998)
have shown that the dynamics of
urbanization in East Asia and Southeast
Asia started to change rapidly in the
1980s. Tasaka (1998) characterizes
urbanization in developing countries as
“urban  involution”,  describing  the
characteristics  of  urbanization in
developing countries by three terms
“concentrated urbanization” (urbanization
occurs while the rural population level is
higher than that in developed countries);
“primate cities” (overconcentration of
economic, political and cultural functions
in primary cities); and “over-urbanization”
(inflow of population beyond a level the
city can productively absorb). Among the
factors associated with over-urbanization
are high levels of unemployment and
employment insecurity; large-scale
inadequacies of infrastructure such as mass
transportation systems, water supply and
sewerage systems, and waste treatment
facilities; environmental pollution; severe
stress on urban governance; and overall
poverty levels that hamper the formation
of financial mechanisms that could
facilitate urban environmental
infrastructure improvements (Kidokoro
1998).

It is important to bear in mind that besides
the mechanisms for wurban growth
described here, there are other driving
forces for the urbanization process in Asia,
and they vary in different countries.
Urbanization in Asia is not a uniform
process. The changes in the mechanisms of
urban growth described above can be seen
as imparting a huge impact on urban
environmental issues. As the pace of
urbanization accelerates, environmental
problems may worsen due to inadequate
urban environmental infrastructure. On the
other hand, the promotion of economic
growth could speed up the solutions to
environmental problems.

47. The tone of the above passage can
best be described as
(A) Analytical and scientific
(B) Factual but descriptive
(C) Behavioural

(D) Tentative and inconclusive

48. The author is primarily concerned
with
(A) Criticizing the urbanization
process.

(B) The process of urbanization
and over-urbanization in the
developing countries.

(C) Factors of suburbanization in
the developing countries.

(D) Urban infrastructural growth in
Asia.

49. Environmental problems according
to the author can be improved with

(A) Social inclusion
(B) Economic growth
(C) Political will

(D) Strong legislation

50. “Urban Involution” in the
developing  countries is  not
characterized by

(A) Rural population level is
higher than that in developed
countries.

(B) A uniform process of rural-
urban change.

(C) Over-concentration of
economic, political and
cultural functions in primate
cities.

(D) Inflow of population beyond a
level the city can productively
absorb.
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2 fRw U TR W AR SR we W= 47-50
& IR T

AT e AT (1996) AT T@TR (1998) =
TIAT & b qd Ui qer sio-ue e |
TRIIOT i TRl § 1980 o IV T e
IR TRET g3 | qareRT (1998) 7 fosrrasier
QT H TR Bl CTRIG TeAdr & BT H
ATerTd foham & a2 =0 uRed | foremraetict
I H TRIHT & AL T T o+ &l
% GRT a7 & — “Tehigd TTRISAIOT” (ARSI
qE BT & A UTHIOT SEET H &R faehiad
29 W g | A e 8); CWE TR
(T TR § 3, ST T Fiehias
TShATEATIRT T 3Td-Tehg 0T FT); qar “3fd-
TR (SEET T a8 39 &R 9
AP 81 ST 519 TR T TR 38 Helis &9 °
STCHHTT Y Tl &) | SA-TRIET & Hg
FRHT T A & — 3TArIh SRISFR
USTIRURGE  3TRET;  SH-URee-  Hoieral,
STEATYf T HOASTo- (AT el a7 TS
wE % STEAR W giauren SRl Heryd
JEETTT I AUF U, GATERONA
TSHT, I ATV W U Fae AT T
TR 1 TR ST TR F qIERT G gord
JEWTA B GHEA HH ATl SR
Topentartert ot st eam & (Tt 1998) |

T I W SH I FE@qU € 6 TR
forept o SuRfeifiad wehat & affaie TmEm |
TRIEOT UishaT o 3T Uk ool i & o
fafq=r <o 9 3 fu=-foy &9 € | wleen |
TRISROT THTTH UHAT Fal § | TR foerg
% SURTANTT WehHT I TR TAERTIT Gal T
T fo9Ier U9 % ®9 H @1 ST GehdT € |
TR &l T & i 8 % 9T TR
TERNT HId ST i ST
FHROT YGTeR0T Yeiel HEE 95X &l Fehell & |
T AR, I foeh & =g ¥ wEReny
FHENA & THTEM St T el st ST Febell & |

47.

48.

49.

50.

IURTARE RIS o 1 ot FEtetad
¥ 5 ®0 § gae w7 F 9o fohar 5
el & ?

(A) foagciToTTere qe St

(B) TATHE W] [AaROTcHS

(C) HIER Gh

(D) 3Tt e AT

TGk T ey g &9 9§ e € 2

(A) TTRISHROT Sl ATshHAT ht STAET |

(B) fashrasiicT 39 § -WRIROT aef
AR ot TR I |

(C) Taprasiier 39 H FRIGIAeoT &
FRAT |

(D) URMEN § TR goyd STEEEH
FEH |

TEH & FOR FEferad 7§ fhaeh
FRT JATERON FHETe | IR Arm S
T & ?

(A) I A9

(B) e o

(G IRIEEIGERS=INIES]

(D) G AT

forpraeliet 291 § “TRIT TeTar e 9

fopareh g1 atfretera @t et 2

(A) fomrfad <o el oTdem WD
STTEEAT ol TR ST BT |

(B) UMUT-TRIE UREdT i Uk FHH
TThAT |

(C) VS Vel § 2T, TSt e
qieplas  haemat & 3fd-
ThgT |

(D) SFEEN F 3idqaiE 3H TR 9
Ty B ST T &R T 7R 39
FAYRET H A T |kl

i
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